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BEAR A TLRYT Fise] i ok ok ok *
ENVT A e * ok k % *
JIE fi2 K £ #58E [ LA | £#2% | GROSS | HDCP NET || NEfL K #5058 | LEAX | 7%k | GROSS | HDCP NET || NEfL K g2 #5058 | LEAY | f#¥% | GROSS | HDCP NET
1 (% &R 39 | 42 81 23.0 [ 58.0 51 [BEH# Z8 40 | 40 80 9.0 71.0| 101 |=¥& = 44 | 43 87 | 13.0| 74.0
2 |&F 2 46 | 45 91 28.0 [ 63.0 52 [=Z= HR 40 | 40 80 9.0 | 71.0| 102 |Jilg £ 44 | 44 88 | 140 74.0
3 (M EHE 42 42 84 [ 20.0 | 64.0 53 |i=EE Ml 37 43 80 9.0 | 71.0| 103 |’k EZ 48 [ M 89 [ 15.0 | 74.0
4 |BR EER 48 | 43 91 27.0 | 64.0 54 |BEIR X 41 | 40 81 10.0 | 71.0 || 104 |+t & 45 | 46 91 17.0 | 74.0
5 |/h& B 44 42 86 [ 21.0 | 65.0 5 |88 & 42 41 83 [ 1220 | 71.0 | 105 |#HF ZEt 53 38 91 17.0 | 74.0
6 |2l HZ 341 40 74 8.0 66.0 56 |KiF =2 42 41 83| 120 | 71.0| 106 |fR&EF E— 46 | 46 92 [ 18.0 | 74.0
1 Iy ZE 36 | 38 74 8.0 66.0 57 |12 BB— 43 1 M 84 [ 13.0 | 71.0 | 107 |EEs&%x A& 46 | 47 93 [ 19.0 | 74.0
8 |[lLFx Em 38 | 38 76 | 10.0 | 66.0 58 |AF IEE 41 43 84 [ 13.0| 71.0 [ 108 (@M@ & 51 | 42 93 [ 19.0 | 74.0
9 |fRFEE EH 40 | 39 79 [ 13.0| 66.0 59 |EE & 43 43 86 [ 15.0 | 71.0 | 109 |[R&I BT 49 | 48 97 [ 23.0 | 74.0
10 [N FHHt 42 37 79 | 13.0 | 66.0 60 |[#¥H EBZ 44 42 86 [ 15.0 | 71.0Jf 110 (% FH&F 53 | 45 98 [ 24.0| 74.0
" |E#E oF 41 40 81 15.0 | 66.0 61 |;tE BEF 41 | 47 88 [ 17.0 | 71.0 | 111 |#&H Hi 54 49 103 ] 29.0 | 74.0
12 B4 = 45 42 87 21.0| 66.0 62 |iLTE #& 47 | 45 92 [ 21.0| 71.0| 112 |¥a@ Z— 42 | 40 82 7.0 | 75.0
13 | &8 38| 34 12 5.0 [ 67.0 63 | K& % 49 | 44 93| 220 | 7.0 || 113 |3iE Ex 40 | 42 82 7.0 | 75.0
14 |HFE #4i 38 [ 38 76 9.0 | 67.0 64 |BiEE —B8B 48 | 51 99 [ 28.0 | 71.0 | 114 [#I1 & 39 | 44 83 8.0 75.0
15 |HF FBE 39 | 43 82 | 15.0 | 67.0 65 [FF#f FEAER 391 M 80 8.0 72.0| 115 |BE RLER 46 | 37 83 8.0 75.0
16 |k &= 42 | 42 84| 17.0 | 67.0 66 |RER E# 41 | 40 81 9.0 72.0| 116 | KA R 43 | M 84 9.0 75.0
17 |8 =8 49 | 37 86 [ 19.0 | 67.0 67 |EA #M= 44 | 38 82| 10,0 720 | 117 [=Z=YyXx {8— 45 1 39 84 9.0 | 75.0
18 |FE+ HEF 51 [ 52 103 | 36.0 [ 67.0 68 [/hL 15 43 39 82| 10.0 | 72.0| 118 |[¥8& E 42 | 43 8 [ 10.0 | 75.0
19 (£ KEBF 54 | 51 105 | 38.0 [ 67.0 69 |[&F =R 41 | 42 83 [ 11.0| 720 119 [&f@ 2 43 43 86 [ 11.0 | 75.0
20 [de)l Bl 42 | 42 84 | 16.0 | 68.0 10 (A BF 42 | 42 84 | 12.0 | 72.0 | 120 [&HE & 46 | 41 87 [ 120 75.0
21 [iEM #E 45 | 42 87 19.0| 68.0 n (H¥ % 41 | 44 85 [ 13.0| 72.0 | 121 [lbEt ZHKRK 47 40 87 [ 120 | 75.0
22 [EH H3h 44 | 52 96 [ 28.0 | 68.0 72 |EF EA 52 | 42 94 [ 22.0 | 72.0 | 122 |5 #E 45 | 43 88 [ 13.0 | 75.0
23 |8 ZHR 48 49 97 [ 29.0 | 68.0 13 |#% =/ 50 47 97 [ 25.0 | 72.0 | 123 |#2EB FHif 45 43 88 [ 13.0 | 75.0
24 | 5% @ 39 | 37 76 7.0 | 69.0 74 |HIE FA 50 | 47 97 | 25.0 | 72.0 | 124 |Ek&R F# 48 | 43 91 16.0 | 75.0
25 |lLAt EEX 38| M 79 [ 10.0| 69.0 % |% Et 48 | 50 98 | 26.0 | 72.0 | 125 |HE ZHRE 47 | 45 92 [ 17.0 | 75.0
26 |¥her @E 39 | 40 79 [ 10.0 | 69.0 76 |tF  fotEsR 52 47 99 | 27.0 | 72.0 | 126 |lUE [E3h 46 46 92 [ 17.0 | 75.0
21 |BE AHC 43 | 37 80 [ 11.0| 69.0 7 |%F &8 40 | 41 81 8.0 | 73.0| 127 |B ®BX 43 50 93 [ 18.0 | 75.0
28 |Ih#k ER 41 | 40 81 12.0 | 69.0 78 [ {ZA 41 | 42 83| 10.0 | 73.0 | 128 |M% &1T 47 | 46 93 [ 18.0 | 75.0
29 [FHM KK 411 M 82| 13.0| 69.0 19 XA A= 42 | M 83 10.0 | 73.0 129 |4t =HKF 56 | 54 110 | 35.0 | 75.0
30 Mg E= 43 40 83 | 14.0 | 69.0 80 |EE Es 43 [ 40 83 ] 10.0 | 73.0 | 130 |&%F KER 41 1 39 80 4.0 [ 76.0
3 [FE F 41 42 83 14.0| 69.0 81 |HJIl 178 431 M 84 [ 11.0 | 73.0 | 131 |[#@E &= 45 41 86 [ 10.0 | 76.0
2 Ak =E 45 40 85 [ 16.0 | 69.0 82 |KiEg ER 40 | 44 84| 11.0 | 73.0 || 132 |:EfE IEEE 45 | 42 87 | 11.0| 76.0
3 [EH =2 40 | 46 86 [ 17.0 | 69.0 83 |BE = 43 | 42 85 [ 12.0 | 73.0 || 133 |gill Z&EX 44 | 43 87 | 11.0| 76.0
34 |FHFE F= 48 41 89 [ 20.0 | 69.0 84 |k JEF 41 | 44 85| 12.0 | 73.0 | 134 |FIl &R 45 | 42 87 | 11.0| 76.0
35 (&L KA 51 ] 40 91 22.0 | 69.0 85 |luA == 44 42 86 [ 13.0 | 73.0 | 135 |y % 47 41 88 [ 120 | 76.0
36 [ILAX A 43 | 50 93 [ 24.0| 69.0 86 |11 EEIA 43 | 43 86 [ 13.0 | 73.0 136 |Hi&k BF 46 | 44 90 [ 14.0 | 76.0
37 |HRE  K#t 37| 36 73 3.0 [ 70.0 87 |K#t 1R 45 | 43 88 | 15.0 | 73.0 | 137 |&hiR ZEiE 45 | 45 90 [ 14.0| 76.0
38 |l K%ZA 40 43 83 13.0| 70.0 88 |ZEH =# 43 | 47 90 | 17.0 | 73.0 || 138 |IR& Bk 43 48 91 15.0 | 76.0
39 [/\H #H1I& 41 | 42 83 13.0| 70.0 89 [##H F 44 | 47 91 18.0 | 73.0 | 139 [/he&& —i& 46 | 45 91 15.0 | 76.0
40 |RE B 43 41 84 | 14.0] 70.0 90 |FlE =B 46 45 91 18.0 [ 73.0 (| 140 [d#t FipE 43 | 48 91 15.0 | 76.0
41 |k Ef 42 | 43 85 | 15.0 | 70.0 91 |0 =mE 42 | 49 91 18.0 | 73.0 | 141 ()1l XM 47 | 47 94 [ 18.0 | 76.0
42 =B #B— 43 | 45 88 [ 18.0 | 70.0 92 |K#t BAE 47 | 45 92 | 19.0 | 73.0 | 142 |2&E IE# 46 | 49 9 [ 19.0 | 76.0
43 |KE X 46 | 43 89 [ 19.0| 70.0 93 [ENl +z 47 | 45 92 [ 19.0 | 73.0 | 143 |H& FIE 51 50 101 25.0 | 76.0
44 (&3 EE 46 | 43 89 [ 19.0| 70.0 9 |FmIl FFE 49 45 94 [ 21.0 | 73.0 | 144 |/l #0058 54 [ 49 103 | 27.0 | 76.0
45 FEFT = 47 | 44 91 21.0 [ 70.0 9% |fBE &8 49 | 45 94 [ 21.0 | 73.0 || 145 |JIlke EEHF 55 | 55 110 | 34.0 | 76.0
46 |BEF @R 49 | 45 94 [ 24.0| 70.0 9% |JIE &R 52 | 44 96 [ 23.0 | 73.0 146 (B = 43 42 85 8.0 77.0
47 |k EiEFEE 49 | 47 96 [ 26.0 | 70.0 97 |’ & 49 | 47 96 [ 23.0 | 73.0 | 147 |[/hKE It 42 | 44 86 9.0 77.0
48 (EE Bt 39 | 37 76 50 [ 71.0 98 |Ef fE= 53 46 99 [ 26.0 | 73.0 | 148 |k&x #H 45 42 87 10.0 | 77.0
49 |WufE  BEsh 39 | 38 71 6.0 71.0 99 (IUAX =Z 44 40 84 [ 10.0| 74.0 | 149 |E® —% 42 | 45 87 10.0 | 77.0
50 [#%B8 & 40 | 39 79 8.0 [ 71.0f 100 |gIH X4t 42 | 44 86 | 12.0 | 74.0 | 150 [/k& wHlY 44 | 46 90 [ 13.0| 77.0
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BHEHAKX  FITLRYT $5pE * ok ok ok kK
ENUT 4 F¥ * % % x k%

JIE 52 K 4% $5EE | LAY | 2| GROSS | HDCP NET || NE%L K % $5EE | LAY | 2| GROSS | HDCP NET || 4L K $5EE | LAY | {2 | GROSS | HDCP NET
151 & M2 51 40 91 14.0 71.0 201 |He &7 60 | 45 105 24.0 81.0
152 |#E4T EFHRER 47 44 91 14.0 77.0 202 1B FE 61 45 106 25.0 81.0
153 |EH R 48 43 91 14.0 71.0 203 (B HE 56 50 106 25.0 81.0
154 |#R & 48 44 92 15.0 77.0 204 |K#f IERE 45 43 88 6.0 82.0
155 |E EHB 52 42 94 17.0 71.0 205 Bt EB=E 48 | 41 89 7.0 82.0
156 |HK F 50 45 95 18.0 77.0 206 |=)Il Rz 49 44 93 11.0 82.0
157 | KT EF 50 | 47 97 20.0 71.0 207 | K% 18 45 50 95 13.0 82.0
158 [fR#E IE4T 53 45 98 21.0 77.0 208 (WX REX 44 52 96 14.0 82.0
159 |ffE #Z 46 56 102 25.0 71.0 209 |FHiF lEFRE 49 49 98 16.0 82.0
160 |f2& 7 55 51 106 29.0 77.0 210 |@AE EFM 51 49 100 18.0 82.0
161 |BE@E #= 46 39 85 7.0 78.0 211 |7 F= 60 45 105 23.0 82.0 || oxxx|FAR &= 44 44 88 18.0 70.0
162 |&EHE Bk 40 47 87 9.0 78.0 212 | K& ZEA 50 48 98 15.0 83.0 | #kxkk[ IO  FiEF 42 39 81 8.4 72.6
163 [K&E @ 45 43 88 10.0 78.0 213 |0 &k 48 50 98 14.0 84.0 | sokkxx|/NFR  TEAE 44 42 86 13.2 72.8
164 | A =58 43 47 90 12.0 78.0 214 |[BE 3BE 52 50 102 18.0 84.0 || #kxkx|E5HE 50 39 89 15.6 713.4
165 |E¢&t M 48 44 92 14.0 78.0 215 |gi@A &k 52 51 103 18.0 85.0 || #kxkk[3THT FEXX 46 42 88 14. 4 73.6
166 |FEEF AF0 46 47 93 15.0 78.0 216 |/\K =®Ez 48 53 101 15.0 86. 0 || #kxkx|FHAT EEK 40 39 79 4.8 74.2
167 (JIIF8 E£F 43 51 94 16.0 78.0 217 [AHE 1E#t 59 56 115 29.0 86. 0 || #kxkx| G| = 46 43 89 14. 4 74.6
168 | I = 53 42 95 17.0 78.0 218 |'E% 1=K 43 44 87 0.0 87.0 || #kxxx|FH;R  AZHE| 50 45 95 20.4 74. 6
169 |JIIFH &N 48 | 47 95 | 17.0 | 78.0 || 219 |K¥E Ri= 46 | 52 98 | 11.0 | 87.0 || #xrrx|f N HRE 50 45 95 | 20.4| 74.6
170 |FHR  OnF 51 49 100 22.0 78.0 220 =4t FIE 52 47 99 12.0 87.0 || #kxkx|iBA & 56 49 105 30.0 75.0
171 |EHK 8hF0 53 | 49 102 | 24.0 | 78.0( 221 |&Il HE&EF 55 | 52 107 | 19.0 | 88.0 || »++xx|B8 T =7 61 | 48 109 [ 33.6 | 75.4
172 | Bk EHt 50 56 106 28.0 78.0 222 |15BK im 60 52 112 23.0 89. 0 || #kxkx|cnin] E4T 43 41 84 8.4 75.6
173 | R# %15 47 38 85 6.0 79.0 223 |ZBE X% 57 48 105 | 15.0 | 90.0 [ *#xxx|FHEF 3h 46 42 88 12.0 | 76.0
174 |ZEH & 36 | 49 85 6.0 | 79.0| 224 |k EE 53 | 62 115 | 25.0 | 90.0 | ##+xx|hE Bk 49 50 99 | 22.8 | 76.2
175 |#aA& 1B 45 44 89 10.0 79.0 225 ([lLKX ZEF 62 56 118 26.0 02.0 || #kxxx| O B 50 42 92 15.6 76.4
176 ML B 48 42 90 | 11.0 | 79.0 | 226 |EIRE Ei# 66 | 52 118 | 26.0 | 92.0 | skxx|chiT i 48 | 50 98 | 21.6 | 76.4
177 |B% B3 48 44 92 13.0 79.0 227 (&L =EI& 48 46 94 0.0 94.0 || #rxxx| A R 53 51 104 27.6 76.4
178 (#F RAI 48 | 46 94 [ 15.0 | 79.0 | 228 |[fkRK &A=k 64 55 119 | 24.0 | 95.0 [ #krrr|BEKR 53 50 103 | 26.4| 76.6
179 | KR FE 48 46 94 [ 15.0 | 79.0 || 229 (&% =E# 56 | 48 104 0.0 | 104.0 || ikt |FNE —i 47 | 47 94 | 16.8 | 77.2
180 |l #2X 47 47 94 | 15.0 | 79.0 | 230 [AR iE8s 62 | 59 121 0.0 | 121.0 || s |ik A HFA 54 50 104 | 26.4 | 77.6
181 |=k & 48 46 94 [ 15.0 | 79.0 srolokk (12 R 52 57 109 [ 30,0 79.0
182 |5H =E#= 51 44 95 16.0 79.0 ookl | 5 FHA 51 51 102 22.8 79.2
183 |HF M= 48 52 100 21.0 79.0 sk | AFT E— 51 49 100 20.4 79.6
184 | &IT 54 50 104 25.0 79.0 wekkk|fER FED 53 59 112 32. 4 79.6
185 |ERF it 60 55 115 36.0 79.0 ] [ = |7 57 54 111 31.2 79.8
186 (AL RIE 46 38 84 4.0 80.0 spkkk| AH & 49 47 96 15.6 80.4
187 |f@@ 4TI 43 | 45 88 8.0 80.0 siokiok| B 30 Sk 58 53 111 30,0 | 81.0
188 |RJII EIA 47 45 92 12.0 80.0 shkkk | B KB 58 59 117 36.0 81.0
189 |# Rl 47 | 46 93 [ 13.0 | 80.0 sk | THER (22 60 58 118 | 36.0 | 82.0
190 |hE =i&E 47 46 93 13.0 80.0 i b7 S 61 61 122 36.0 86.0
191 |&5)Il =—EBR 52 | 47 99 19.0 [ 80.0 xx|[H S F 67 57 1241 36.0 | 88.0
192 |=% F 56 47 103 23.0 80.0
193 |82 = 51 54 105 25.0 80.0
194 /& ZEH 41 47 88 7.0 81.0
195 |Bi5 =& 49 43 92 11.0 81.0
196 /N —F 48 45 93 12.0 81.0
197 |&F% EBZ= 48 47 95 14.0 81.0
198 (BAO & 46 50 96 15.0 81.0
199 |JIIFBER ™M= 46 51 97 16.0 81.0
200 | AT &z 48 52 100 19.0 81.0
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